Rew'zw

Dineer Tvmrprj ¢ 't,vaps]COrma\‘bTOn :

et 8 = Ol]t)
Qto\,ﬁ): 5 g f(x,\p hix oy, B)

X=1 3:|

(8(6\,[%) 7s fineey combinations o'f all the

entries Of “f ]C?r ol o [3) ,

hi-, s, -, p) s celled the PSF ot (o, P)

Dq]Lm‘ltIon:

Sh;fi nveriant &
h‘ﬁ/o‘/ﬂ,fg) = h(d\'xlp-lj) ‘JC?Y O\V\\\j \SO\,P/)(,jS{\)'

Se\)cvabu &)

hix,a,Y,B) = hotxoa) hety p)



Qs

DQVYV"‘“V\Q h
whether  The ]C..uo.,v;,\jg 35

h'\ ThuCk! Ovin
S ]c‘t mveriont  ov 5(‘70,(0'7\6 >

lo hox, e, Y, p) = bkeﬁﬂfl
2
Chox e, y, F) = (- X) Q&d-X)—(P-%
3 hix,a - )
’ ’&P)' IJT)’ (d—X)3+([2—g)’— W]C lo-x] {2
B-yl <3

o otherwise

/—XI’\SWQV ;

| Mot shift inveriant,
Teke =2, x=| B Y=|
Wi, 2, L)) =2 |
Bt f wsi x=a, R Ye)
hto, .1, 1=\ |



ggruable:

hixa gy pr=(a)le)
he hy

2, Shift dnveriant
Lkt sz o-¥, t= f-Y

¢
we see hix,a, Y gr= Se

Serar&buf

N, Y p):((ot- x ) eq—)j(@_ (P-‘“)
h hy

5, Sk'\ft"mv&r]m\t:
Let  S=o-x, t= -9

./)— -
- ot? T Is1sx, jtle3

0 otherwise

hix, 8,4y p)=




N o selwmble;

We PWV’{ bﬁ tontred’ ction
Suppose hix,d,y B) = he ) hely, p

‘y\)\( some l\(./ hV.
Then, hui, 12 2= hetl,D hv2,2) = (4]

hit,r,2,0) = heel) v, D= 30

) h\’()/)') /{F’
hVLz/ ) - 3/\[‘

Put, W o2,0,2,2)2 ho(2,n hei2,2) =2 3>

N>, 2,1) T heC2, 1) hr (2,17 09

_y  hr2.2) 342 A1

—_— / — — _
hy 0 N1 S

_—

Controdiction



